MANIFOLD TYPE FILTER

25 MPa

1. Maximum operating pressure: 25 MPa >
Impulse test: 25 MPa x 107 times Model COde

2. Spec. for option Fi ;
. iltration :
Fluid Type |——— GF—A—— (" |——|Case Length |—| Rating ||  Option
Element Type El‘eergser:‘t9MaxADitferemial E%i(s::ltor;Operating E%isesf Yglve Opening | |
U u Ul
Standard 0.7MPa 0.3MPa 0.35MPa ,_l |
H:g?sﬂilf;erential 21MPa 0.7MPa — Code Fluid Code | Inner Dia. |
Blank Mineral oil 03 | 10Aequiva Code Filtration Media Code [Relief Valve
f 20A equivalent
3. Manifold-mount type. F__| Phosphats ester-based ol 82 = e P 3300H 3 microns C “\j\‘,’:ﬁ
Mounting face standard ... JOHS121 (Mounting face of G__| Water glycol-based il «[8C o mi C fiber
hydraulic 2-port control valve in Japan Oil Hydraulic _ %[ 8CH microns
Standard) Coding Example é fgg fg microns o
i microns I
® GF-03 : P-AG-06-2-A F-GF-A-03-2-3C-IV *[ 200 | 20 microns | pager Code | Indicator |5 3Mpa set]0.7MPa set
® GF-06 : P-AH-08-2-A *| 40U 40 microns B'alnk B'i;d p':’g IF_S |F_7
. . . i Isual - -
™ 4. Please contact us for use of fluids other than mineral oil 150%"\)’\/ 13 morons £ Eeoric | EF3 Er 7
Q) on O-rings and other parts. 20UW |20 microns b | Eectic | erap EF7D
5. Manifold surface finish should be Ra 1.6S (<<7~7) or 40UW | 40 microns |  Wire for mito capacy
better. 50UW | 50 microns (SuUs)
6. For mounting, please prepare and use hexagon socket fggw fgg 2222
w cap bolt (strength 12.9). 100w 700 mesh
g M Size GF-03: M10x 70 50W 60 mesh
S ! . ; — '
k=] M GF-06: M10 x 80 ¥ 3C:53=200  (Note) “CH"is for high differential pressure 21MPa elements. Relief valve cannot be attached.
= @ GF-08: M12x100 8C : 88 = 200 % Not to be used with water glycol-based oil.
@ ¢D S R . . . I 25C : fBos = 200 Y¥ Filter media used for water glycol-based oil differs from that for mineral oil.
T £ @ J 7. Drain plug is not provided with filter assembly.
@ w 1-46 Denth 6 Please provide drain plug at manifold block for > Spares
@ I E— o K Locating pin hole[ ) installation.
NTTT) e - S 8. Manganese phosphate coating on filter body. B Element
A\
@\ ”\fri\\ our A Caution|When releasing air, do not over-loosen P ——| Fluid Type GF A — |Case Length| — |Filtration Rating
a/e/@ ©z = No.17 Cap bolt. Avoid No.18 Steel ball Codi o P-F-GEA o
| W w pop-out which may cause injury. oding example :  P-F-GF-A-03-2-3
2 I@ =y
. 50 Bl Sealing parts set
4-¢4d . . . .
H | #d //@ View A ge @ For element replacement (Part No. with © in “O-ring and Backup ring” .)
4
K Inner
—1‘[ ;/ SP—— | Fluid Type GF A (H)
. . L When the high diffrential pressure
JJ : ! N e WH1 (Indicator height) B Part List Coding example :  SP-F-GF-A-03 element is used
o ig Blank 12 a IS
@m I 365 18 45 Steel ball SuJ 1
A | ¢P E | o 17 M8 Cap bolt SCM435 | 1 |Cup point @ For overhaul
IN OUT 16 O-ring NBR 1 |JISB 2401. 1A . inner
15 O-ring NBR 1_|JISB2401. 1B SA—— | Fluid Type GF A —(H) S
14 Indicator SUS303 1 Coding example :  SA-F-GF-A-03-H L V\Ilhen titwe hlghddlffrennal pressure
13 46 X 12 spring pin SK 1 element s use
. . 12 O-ring NBR 2 |JISB 2401.1A%1
mO-
0 ::"r?Ni"g Ba"'k;p Ring - 1 Backup ring PTFE 2 | SUN-4B (for flange) » Flow Rate Chart
al A .
8 9 10 11 12 15 16 10 O-ring NBR 2 |JISB 2401.1B ) . o
Model 9 Backup ring PTFE 2 |JISB 2407.73 @ISO VG32 @ Viscosity: 32cSt (40C)
GF-A-03-2 G-55 |ForG-55| P-20 |ForP-20 AS:g%HQ 8 O-ring NBR 2 |JISB 2401.1A
GF-A-03-3 7 Cap bolt SCM435 2 |Cup point Filtration R(atir;g Filtration R(atir;g
GF-A-06-2 6 Relief valve 1 3 Microns (3C 8 Microns (8C
70 |ForG-70| G-25 |ForG-25|ASse8-119| p. -
GF-A063 G-70 |ForG-70| G-25 |For Han P-18 P-14 5 Inlet AC2B 1 0.15 0.15
GF-A-08-2 e 4 Element 1 -
-80 |ForG-80| G-35 |ForG- - K
GF-A-08-3 G-80 or G-8 G-35 or G-35 With backup ring 3 Cover S25C 1 % %
- — —- - 2 Shell S45C 1 |GF-A-03: STPT410S S o4 » 2 od
%1 Backup ring is included for use of high differential pressure element only. 1 Body S25C 1 g_ o;’], ,b‘,b / 0%,‘2 5
Part No. Part Name Material Qty Remarks [ VA Q%'{L o© a3 %
B Dimensions and Standard Flow Rates 3 / :
[ =
Symboll ol p | o | Eement oyl M| R[N | N o | P | s | k| d | T |uowanceMass| Btanderd s 0 é =0
1 %
Model o [ ‘ e ’ E (kg) | "(3min)- T / T
GFA0S2 | 194 | 56 | 76 | 605 |10 45 | 78 | 82 |429 | 88 | 93 | 667 | 286 | 16 | 265 | 18 | 318 | 11 [wmwes| 0 1461 25
GF-A-03-3 | 288 212 |(45.3) fatdhe | 205 | 53 27 b s = s 100 b
GRA062 | 19 | 65 | o4 | 763 [0 1502 | o5 | 102 | 603 | 105 | 111 | 794 | 381 | 20 | 325 | 24 | aas | 11 |Wowes| 190 L7011 90 > FlowRate (¢/min) —— > FlowRate (&/min)
GF-A-06-3 | 293 212 | (51) ante] 205 |84 | 110
GF-A-08-2 | 265 160.6 With 170 [121 200
80 | 115 | 89.1 62.2 | 4 127 | 841 | 118 | 127 | 96.8 X 30 | 425 | 24 | 627 | 13 |"inawws
GF-A-083 | 365 2606 | (64) | '8 %08 B o070 148|230

%2 High differential pressure element dimentions in ().

39 40





